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Seien 0 <k <k +4<n-2 natirliche Zahlen. Die Giiltigkeit der Gleichung ist zu beweisen
oder zu widerlegen.

i o =

Losung:

(n—Bj{n—SJ: (n—3)! N (n—3)!

k+3) (k+4) (n=3-(k+3)t(k+3)! (n=3—(k+4)+(k+4)!

3 (n-3)! N (n-=3)!

(n=3—k-3)L(k+3)! (n-3—k—4)k(k+4)!

~ (n—3)! N (h—3)! _(n-3)t(k+4)+(n-3)L(n—k—-6)
(N—k—=6)t(k+3)! (n—k—=7)k(k+4)! (n—k—6)(k+4)!
(-3t (k+4+n-k-6)  (n-3)I(n-2) (n=2)!
 (n—k=6)L(k+4)!  (n—k=6)t(k+4)! (n—k—6)+(k+4)!

n-23 (n-2)! _ (n-2)! _ (n-2)!
k+4) (n—2—(k+a)H(Kk+4)! (n—2—k-Dt(k+4)! (n-—k-6)(k+4)!

Was zu beweisen war.



